TR BETEBE HMWE

EURA AT

2l e | me 1 3 IR | A | 551 R
1| 5/24 | =52 |HBEHLNL 1,814 1,814
2 | 5/24 |@rum At | FEEL 5,703 -7,517
3 | 5/24 | wE® |HEHMN 17,513 25,030
4 | 5/27 |wrmi A | PERCHT R BE SR (5 H ) 3,034| —28,064
5 | 5/27 |@emase | xR SR (5 A 4)) 3,877 -31,941
6 | 5/27 |mrmas g}g‘g%gg%ﬁﬁﬂ (15) 91,050| -122,991
7 |5/27| #EwE |EEEEHEGAAFIHSD) 11| -123,002
8 | 5/27 | wm® |="—fEHEA4H ) 1,077| -124,079
9 | 5/27| #m#® |ADSLAIFIEHGH FER4Y) 5,286 129,365
10 | 5/27 | #m# | A2 —3y MNIHEHGHFERS) 4,374 -133,739
11 | 5/28 |wruiatt | Hioe 8 EBEHORHG H 5) 3,400 —137,139
12 | 5/29 |wrmmase | ] B BT EBESERE (5 H 43) 3,093 -140,232
13 | 5/29 |@kmAn %ﬁf@%ﬁﬁiﬁggg B43) 23,500 —163,732

5/31 5H -6 A/ BUGSTE N E 840,000 676,268
14 | 5/31 | germins Z’?g‘gﬂéiﬁ  HR ST IR C 11,093| 665,175
15 | 6/4 |wrmnn t%éﬁ%égﬁfﬂﬁ'%ﬁﬁ 4,665 660,510
16 | 6/12 |wrmensy | AP F RIS SDENG H 43) 1,887| 658,623
17 | 6/14 | #m# | S55HMA 1,641 656,982
18 | 6/18 | #=mz |EiHEHEGHFIHY) 39| 656,943
19 | 6/18 | #mn |2 —FEGA ) 2,049 654,894
20 | 6/18 |k Aty | EEE, 4,848 650,046
21 | 6/19 | #m# |ADSLF N6 H 35K 4y) 5,286 644,760




TR BETEBE HMWE

R4 NN

Srlan| mEA Hi % AR | A | 551k
22 | 6/21 | #=mE |zt — HHEMA 1,749 643,011
23 | 6/21 |wrmAty | pERCHT R A SR (6. 4 ) 3,034| 639,977
24 | 6/25 | e Az | g AR SORF (6 H 45) 3,877 636,100
25 | 6/25 | ezt | Fioe B Mg HOEH6 H 5) 3,400 632,700
26 | 6/26 |@rms Az (5l FOFTEEE SR (6 H 47) 3,093| 629,607
27 | 6/28 | wrmirs %gg%‘jgﬁ?ﬁaﬁ%%%ﬁ%ﬁ%ﬁ*ﬂf 11,093| 618,514
28 | 7/3 |wermiaz ﬁg%?g&gi%gggg_ 3,529| 614,985
29 | 7/8 |wemias | 2B RIS SR H 4Y) 1,887 613,098
30 | 7/11 | wmE | S M 22,076| 591,022

7/16 2/ 4 B s E 1,260,000 1,851,022
31 | 7/17 |eemmpate | EEE( 6,358| 1,844,664
32 | 7/18 | #m# |EIHEHE6HFIH ) 112| 1,844,552
33 | 7/18 | wmm |t —{F FAEN6 A 4)) 1,135| 1,843,417
34 | 7/23 | #ms# [ADSLAFIEHT A #5K45) 5,286| 1,838,131
35 | 7/23 | #E® (A H— Ry NHIAEHTHFERS) 4,374 1,833,757
36 | 7/23 |wr ot | PERCHT RARE SR (TH 4)) 3,034| 1,830,723
37 | 7/25 |wenmat | nEr R SR (T A 43) 3,877| 1,826,846
38 | 7/25 |mrmm At | FEo AT ZOEHT H 43) 3,400 1,823,446
39 | 7/26 |z (5 B OFTEEE SR (TH 43) 3,093| 1,820,353
40 | 7/31 |mermias ?ggﬁ'zﬁﬁ?ﬁ  HREES T IR SC 11,093| 1,809,260
41 | 8/6 | =z B 1,209| 1,808,051
42 | 8/6 |wemias | LB RIBESEENT H 43) 1,887| 1,806,164




TR BETEBE HMWE

R4 NN
n| AR mEA fi % G | SRR | E5I R
43 | 8/16 | #=m# |HIFAR 2,620( 1,803,544
44 | 8/16 |k Az | EER(K; 4,848| 1,798,696
45 | 8/20 | #m# |EEEEMHETHFRIASY) 14| 1,798,682
46 | 8/20 | wmm |2 —{F BT A 4 671| 1,798,011
47 | 8/20 | st |ADSLF RIS H 35K 4y) 5,286| 1,792,725
48 | 8/22 |wkm Aty | PERCHT R ISR (8 A ) 3,034| 1,789,691
49 | 8/23 |k Az | g BRSO (8 H 4Y) 3,877| 1,785,814
50 | 8/26 |wrH Azt |ZEe AT ZIEH8 H 47) 3,400| 1,782,414
51 [8/26 | #mm |EX2UTVT7MY 6,458| 1,775,956
52 | 8/30 |mrmi Az (5 FFTHEEESORF (8 H 47) 3,093| 1,772,863
53 | 8/30 s ns %gé?z'gﬁiﬁ  HREES T IR SC 11,093| 1,761,770
54 | 9/3 [wrmmas ﬁg%?g&gi%gg@g_ 3,652| 1,758,118
55 | 9/3 |ewmam %)ﬁé%;i?%@@é%ﬁ*ﬁ%& 5,610| 1,752,508
56 | 9/6 |t | AT EIEZOEHGH 77) 1,887| 1,750,621
57 | 9/18 | ki At | FEELY 4,848| 1,745,773
58 | 9/18 |wrhis A | EEE( 16,563| 1,729,210
59 | 9/19 [srmi s ?g%ﬁfﬁﬁ?@%'ﬁ%i%@i el 8,400| 1,720,810
60 | 9/19 | wB# [FHEH LR IRAFERZT) 10,303| 1,710,507
61 | 9/19 | #=m# |EIHEIHEGHFIHY) 38| 1,710,469
62 | 9/19 | #mn |2 —#FEKSA ) 670| 1,709,799
63 | 9/24 | st |ADSLF RO H 35K 4y) 5,286| 1,704,513
64 | 9/24 | w2 —FyNRIAEH(9H FERS) 4,374( 1,700,139




TR BETEBE HMWE

R4 NN

n| AR mEA fi % G | SRR | E5I R
65 | 9/24 |werm Aty | pERCHT R SR (9 4) 3,034| 1,697,105
66 | 9/25 | e Az | Fioe BT EEHOEHOH 5) 3,400 1,693,705
67 | 9/26 |@rm Az (5l FHFTEEE SR (O A 47) 3,093| 1,690,612
68 | 9/30 |@ru Az | EnETEIRE SR (9 A 4)) 3,877| 1,686,735
69 | 9/30 | wrmirs %gé?z'gﬁiﬁ  HREES T IR SC 11,093| 1,675,642
70 | 10/7 |k At %ﬁf@%ﬁ%ﬁ)zogg B43) 28,200| 1,647,442
71| 10/8 |wermas |23 BA 57 RS B 55RO H 43) 1,887| 1,645,555
72 | 10/16| zermirse %g‘ﬁfﬁ% DA STl SR O T3] 5,351| 1,640,204

10/16 3/ 4 B 1 Eh 1,260,000 2,900,204
73 [10/16 | eorms Az | EEE( 4,863 2,895,341
74 [10/21| ## |EIEEHEO A FIH ) 97| 2,895,244
75 (10721 #mm |2 —E FEHOA 4Y) 2,190 2,893,054
76 |10/21| #ms# [ADSLFFE10 A #5K4) 5,286| 2,887,768
77 |10/23 | wems Aty | pERCHT RIEEZERE (10 H 4)) 3,034| 2,884,734
78 [10/25 | @Azt |5 En BT RS SR (10 H %) 3,877| 2,880,857
79 |10/25| wrms Aty | 35758 FrRARE SN0 H 4Y) 3,400| 2,877,457
80 |10/28| x| 5] A B S SR (10 H %)) 3,093| 2,874,364
81 | 10/28| erim s ?&g;’gﬁ?ﬁ  HREES T IR SC 11,093| 2,863,271
82 [10/30| gk Az iz%éﬁ%%gg?ﬁ%mﬁ 6,958| 2,856,313
83 | 10/30 | zerim nze ﬁ%@%@i@gwm@ﬁj@ﬁmﬁ% K 19,215| 2,837,098
84 | 11/7 | #mz |H&H ML 20,814| 2,816,284
85 | 11/8 |ermint | Z\BHE IS ZERH10H 4)) 1,887| 2,814,397




TR BETEBE HMWE

R4 N
Srlan| mEA Hi % AR | A | 551k
86 [11/15| ek Aty | EEEF, 4,942| 2,809,455
87 |11/21| #m# |FEaEEHE(10AFIM ) 162| 2,809,293
88 |11/21| ##m# |=°—fFEFEH10H %) 1,790| 2,807,503
89 |11/25| ekt | En g EAREZERE (11 A %)) 3,877 2,803,626
90 [11/25| % |ADSLAAEHI1HFERS) 5,384| 2,798,242
91 (11/25| #B# | A& — %y MIHAEH(11HFERS) 4,416| 2,793,826
92 |11/25 | @ at | PERSHTEIESERE (11A 4Y) 3,034| 2,790,792
93 | 11/25| @rmint |78 B A FERHI LA 4)) 3,400| 2,787,392
94 |11/26|@wema |5 B g SR (11LA %) 3,093| 2,784,299
95 | 11/26| erimenze ?&'gﬁgﬁiﬁ  HREES T IR S 11,093| 2,773,206
96 | 12/6 |@rmieat: | ZNBAF R SR 1 H 4) 1,887( 2,771,319
97 |12/11| #=mz | ML 6,776| 2,764,543
98 [12/17 |whms Aty | LR, 5,987| 2,758,556
99 |12/19| #m# |EaEeHELAFIA D) 47| 2,758,509
100(12/19| #m# |2 —{FHEFHEILH 5) 1,346| 2,757,163
101|12/19| #m# |ADSLAAEH12H 55 K45Y) 5,384| 2,751,779
102 |12/20 | eerms Aze | 35258 Fr RAREFERH12 H 45) 3,400| 2,748,379
103 |12/20 | &k aze | FERHT RS SER (12 H 47) 3,034| 2,745,345
104 | 12/24 | e aze |5 B g S SR (12 H 47) 3,093| 2,742,252
105 | 12/24 |z nze ?ﬁg;’gﬁ?ﬁ  HREES T IR SC 11,093| 2,731,159
106 | 12/25 | ek At | i 2nsar B RE ek (12 H 43) 3,877| 2,727,282
107 [ 12/26 |z nze jig%?g&gi%gg@g_ 3,678| 2,723,604




TR BETEBE HMWE

R4 N

Srlan| mEA Hi % AR | A | 551k
108 | 12/27 | e At | BB BIESEEH12 H 4Y) 1,887 2,721,717
109 1/15 | e sy | ZEE(L 6,182| 2,715,535

1/16 4/ 4 B TE 1,260,000 3,975,535
110 1/21 | #m#  |ADSLA AR H 55K 5) 5,384| 3,970,151
11| 1/21 | 8% |Ao2—3 MR H RS 4,455| 3,965,696
112 1/22 | &kt | FERCH BB SEE (1 H 4y) 3,034| 3,962,662
113] 1/22 | #=me |=e"— LS 1,782 3,960,880
14| 1/23 | #wn |EiEEH2HFIH) 80| 3,960,800
115] 1/23 | #=mz |=2e"—{FEHE12A 4) 1,182 3,959,618
116 | 1/24 |wenmas | & REE S (1A 43) 3,877| 3,955,741
117 1/27 |&rmnte |5 oe 0 S0 H 4) 3,400( 3,952,341
118 1/27 |&rminze |5 B g BEESEE (1 H 4y) 3,093| 3,949,248
119| 1/27 | germinse ?ggﬁ'zﬁﬁ?ﬁ  HREES T IR SC 11,093| 3,938,155
120 2/12 | eormaze | 25 B 5 R B SR A 45) 1,887 3,936,268
121 2/20 | #ms% |EEEEFHEAA R D) 29| 3,936,239
1221 2/20 | #=mz |=2e"—{FFEA ) 1,362| 3,934,877
123 2/20 |z | LK 4,942| 3,929,935
124 2/20 | &kt | FERCH BB SEEN (2 H 4y) 3,034 3,926,901
125 2/21 | #m# |ADSLAIAEHC H 55K 5) 5,384| 3,921,517
126 2/21 | #=mw | S5 7,832 3,913,685
127 | 2/25 |wenmase | &5 EE S (2 A 45) 3,877 3,909,808
128 2/25 |wrmm Az | 35855 5T R BE SR A 43) 3,400| 3,906,408




TR BETEBE HMWE

R4 NN
Srlan| mEA Hi % AR | A | 551k
129 2/26 | &k |5 B g EEESEE (2 H 4y) 3,093 3,903,315
130 | 2/26 | germi s gﬁﬂa %\E'Z'Kﬁ*ﬁ  HE ST IR C 11,093 3,892,222
131 2/27 |k as iz%éﬁ%gﬁag)%ﬁ%mﬁ 6,500| 3,885,722
132] 3/3 | At |2 A EHEMIE S 29,760| 3,855,962
133 3/5 |&kmiate | /N0 F BB SEEN2 H 4) 1,887| 3,854,075
134 3/23 | @kt | L 4,942| 3,849,133
135] 3/23 | #m# |ADSLAFIEH3 A #EK4) 5,384| 3,843,749
136 | 3/23 |werms Az | EEE( 16,872 3,826,877
137| 3/23 | germi s gﬁi@gwm@ﬁj@ﬁmﬁ% K 12,972| 3,813,905
138 3/23 |wenm Az | EREHT BIHEZORE (3H 57) 3,034 3,810,871
139 3/24 |&rnmAase|ZEoc AT EEZCEH3 H 47) 3,400 3,807,471
140 | 3/25 |wrenm s | &5 s SR (3 A 45) 3,877| 3,803,594
141 3/26 | s | A2 —xMNIREHGHFERD) 4,455| 3,799,139
142 3/26 | ekt %ﬁg@%ﬁiﬁ?ﬁ SRS ) 8,400| 3,790,739
143| 3/26 | #mn |EEEEHAQAFIHS) 33| 3,790,706
144 | 3/26 | #m# |z —FHEQCH ) 2,610| 3,788,096
145 | 3/26 | vermns ?gé%?‘gggf”é%ﬁm%& 6,141| 3,781,955
146 | 3/26 |z |5 A g EHEOR (3H 57) 3,093| 3,778,862
147| 3/26 | germirse gﬁﬂa %\E'Z'Kﬁ*ﬁ  HREES T IR SC 11,093| 3,767,769
148 | 3/26 |werrm s |23 BH 7 R RE 2R3 H 43) 1,887| 3,765,882
149 3/30 | A |3A S EHEMBIE S 29,760| 3,736,122
150 3/30 | At |97 {RRoE 177| 3,735,945




TR BETEBE HMWE

N N
“2an| mEA 4 5 N AR Al
= 5 4,620,000 884,055 3,735,945




